o B D F - FET 2 RIS T AR S

ﬁ%w%{*‘ﬁﬁ? T AU D 20,790 Frfhiion > S I [ PR JAEEL +20.2%
ES IF”:}EZEJ Hd &S MPYAEE S 30,839 pfuﬁm )2 T PR QHAREL +7.7% o
%ﬁ%# TS E AR 7,286 Fiﬁfﬁw , T i [ﬁvﬁkﬂ , {HAREL +14.8% o
wﬁﬁ%ﬁ T OAHPY E S 9,534 FrfpEs == 5 [l %5 it > UERL +46.4% -
TR IEE'J?%?F"IW' 12,970 Frfyphon » 22 1 [ T AL +8.8% -

\L_\}\)H ﬁlo \«:‘E'
?—‘-L‘

PISFEE F9%55) (1)t 298 2 2RI FRfpaeT £ 26,313 Fifyitor » 2o b
[[il % Foi > jEig Rl +17.0% -
VIVEC SHHHT) [ FIRHET A Ayt Sieqo T 7 ioaeaT b 26,679 Fripn == 1
% Pl > JER@RL +5.0% -
PP S5 q1 IR R = " S iog ~ ZAl e 6,183 pifor » 22 B
aft » [HASEL +9.3% o
IR ST QNIRRT 2 T A 8,165 pifiior o 2E BE I
fif > HASLL +40.4% o
, J[m' EC FFFE) (R R EE T R 11,966 |y > 2 I [l P

ERRLL +8.6% o



IR D F F 2 RS T RIS

3 JERR T A ST PR £ 111,274 E[ﬁ&ﬁm ) B - P AR AL +10.2% -
LR SRR AR AL 30,306 pﬁiﬁi ) T Pl JARLL -9.8% o

SR EE T HAY £ AT 31,216 pﬁiﬁi ) T P JAELL +67.4% -
THSHREE T AR £ A S 49,752 pﬁiﬁi ) T P AL +2.2% o

B E

A

s

1

PIBE(S FEFT) TR R 2o 2R T A AR D 100,278 P o 2
g fIAERL +7.0% -

IS FEFT) TFFR 7 PRGN 26,924 1R - P
{IFGEL -12.3% -

PIEC %S )RR 2 F g T AR e 27,470 Pyl -2 5 P
gL +61.1% o

PIBE /3555 1) FIRER PR a T PRI EL 45,883 [ifion » 2oy — & Tt

R -0.1% -



R s LR RS AL e e I e

0 IR R G AARPAOAEGT ET 20,536 I FRE o R [ P AREL +14.9% -
A R R AR IORART I 28,630 1Y > T P JBLL -2.5% -
%ﬁ%# R AR 7,322 Py o = R Pﬁ’qﬁ@i -2.9% -
“P‘jﬁ%# AP BEAE RS 9,117 p[ﬂ&{\w T I [ L L +62.7% -

?— ‘-L‘>L\

L

A

.
o

\

R IEF'J?[%?I?"@% 13,097 FI‘FJ?%FTU T L UL +4.3% -
PP SH55) TR S50 o TR AU pARa Y 26,172 Frfypdon - 22 0
[[il % Foa > fuii gL +11.9% -
PIRE(E FFHF) ) FRR S EE{T[\?E%&T%C Rl (st £ 25,417 glﬁ&hﬂa =2
F I JERARL -3.7% -
PIBREC S99 )RR = S Bl AL 6,299 Elfﬂﬁﬁ FEEE R
si  JHUREL -6.0% o
I SFEET) (R i T AR 7,991 Elfﬂﬁﬁ FEEE R
i » (HARRL +56.8% o
/ J[aﬁ‘ E(CFFFT) () FIRT 5 IR AL 11,881 FI“E‘JJ?%F% e H

AL +2.4%



